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pH=-Ig [H*],
HZER KB RAVERTRE |, B
pOH = -Ig[OH]

1, [H*][OH] = K,
oH + pOH = 14
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[H*]=c, (¢c,210°mol/L)

B . 1A{T\

[H']= Ca +\/C‘2' Ak, (c,<10°mol/L)
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ALBER: (g )= JoK. (k210K Bc/K,210)

B . 1LLI= :

| —KaetVKZ+4cKe (k210K Rc/K, <10°)
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[H" =~ K+ cKa ( cK,<10K, B c/K, 2105 )
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[OH 1= ( ck,210K, Mc/K, <10 )

[OH = \/Kw+ K, ( cK,<10K, Fc/K,>105)
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A . =ET,

HCK,220K, , C/K ;=500 TS 01
[H+]:'\/CKa1
B . T :
HCK,,210K,, , 2Raz 2K 4 10

[H "] - v eK a1

— Ka+ \/](a2 + 4cK .
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1 1180.10mol/L HAc i&#&RBYpHIE

i E&0K (HAc)= 1.76x10 5,

c(H") = \[K c(HAc) =+/0.10x1.76x10°*
=1.3x107(mol -dm™)

< .pH =2.89
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52 1T530.10mol - dm - 3NaAc;aHIpH{E

% . Ac-+H,0~—= HAc + OH-
HAc =—==H"+ Ac-
K'xKj=c(H") c(OH-)=K>=1.0x10"*
S Ac-BIKL0 = 1.0x1014/ 1.76 x10-5 = 5.68x 1010
o (Ac-) /K. =0.10/568x10 10=1.7x108 > 400

. c(OH ) m \[Klc(Ac™) =/0.10x5.73x107° =7.5x10 (mol - dm )

<.pOH =-lg c(OH )= 5.1
S.pH=14-pOH=14-5.1=8.9
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{513 3+80.10mol/L H,C,0 ;&8 1&HIpHIE.,
. 2AK,,=5.9 %102, K,=6.4 x10° , K,>>K,, , cK,>>20K_ ,
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2%6.4%10 o
\/ T J0.10x5.9x10 2
0. 10
B - < 500

= K, 5.9x10?

SCRAAEIUTE | 15

2
[H']= —Kz‘” \/Kfl+Ka1 .¢=5.3%x10"mol / L

pH =1.28
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1 50mL4EK , pH=7.0000.05 mL1.0 mol/L HCI:

U{qzzaoi;Loo:JO%n%ﬂﬁL

pH =3.00

AON0.05 mL1.0 mol/L NaOH:

[OH | = 0'05;1'00 —10mol/ L

pOH =3.00
pH =14—- pOH =11.00




512 50mL0.10mol/L HAcH10.10mol/L NaAciR 587K
pH = pKa + lg[Ac]/[HAc]= 4.74 + 1g0.10/0.10= 4.74

A0N0.05mL1.0mol/L HCI:

E 0.10x50+1.0x0.05
(= 0:10x50-1.0x0.05 (HAc) = 210% x
50+0.05 >0+0.05
ot = . +1g 141 [Ac] _4.74+1g0.1><50—0.05><1.0 =
[HAC] 0.1x50+0.05x1.0

AON0.05mL1.0mol/L NaOH:

0.10x50-1.0x0.05
[Ac_]=0.10><50+1.0><0.05 [HAc] =
50+0.05 50+0.05
[Ac™ ] 0.1x50+0.05x1.0

H = pK +1 =4.74+1 -
PR PR 8 e 5 0.1x50-0.05x1.0
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C (H:Ham)
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pH=pK, +lg L)

| (ms3)

2B TERPHIEAR (01 1= k, x S

C (3tim)
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HigPSpEE : pH=3.74~5.74,

Hig/mEER : pH=8.26 ~10.26,
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EHC1 (pK, =8.87)
HEMoERE : pH=4.13~6.13
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g B W Wi 1240 UK seEE | &
g4 2 8-HCI NH; CH,COOH NH; CH,COO™ 2.35
~8 28 -NaOH CH,CICOOH CH,CICOO 2.86
H #-NaOH HCOOH HCOO™ 3.77
HAc-NaAc HAc Ac” 4.76
FR ik F 2 - HOL (CHy ) 6NgH (CH,)N, 5.13
NaH,PQ,-Na;HPO, H, PO, HP(;" 7.21
=W HR-HCI NH* {(CH,CH,OH)5 | N{CH,CH,OH}; | 7.76
=B HERK-HC NH; C(CH;OH); NH,C(CH;OH), | 8.21
Na;B,0 HyBO;, H,BO; 9.24
NH;-NH,C NH, NH; g.25
% 28 -NaO-H NH; CH,COO NH,CH,COO™ 9.78
NaHCO,-NaCO;y HCO: €05 10.32
Na, HPQ,-NaOH HPOS PO,” 12,32
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2.5 BRYE I BRI AR EPHIE R

pH fritid pH25T)
eAlEAE=HK0 034mol L) 3.56
0.05molL. bA—HETH 4.01
0.025mol/L KH,PO -0.025mol/L K,HPO, 6.86
0.01molL WHE 018
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